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गिणत 
MATHEMATICS 

(211) 
िशƗक अंिकत मूʞांकन पũ 

TUTOR MARKED ASSIGNMENT 
कुल अंक: 20 

Max. Marks: 20 
 

िटɔणी:  (i)  सभी Ůʲो ंके उȅर देने अिनवायŊ हœ। Ůȑेक Ůʲ के अंक उसके सामने िदए गए हœ। 
Note:  All questions are compulsory. Marks are allotted in front of each question. 

 (ii)  उȅर पुİˑका के Ůथम पृʿ पर ऊपर की ओर अपना नाम, अनुŢमांक, अȯयन केȾ 
का नाम और िवषय ˙ʼ शɨो ंमŐ िलİखए। 
Write your Name, Enrolment Number, Study Centre Name and Subject on 
the top of the first page of the answer sheet. 

 
1. िनɻिलİखत मŐ से िकसी एक Ůʲ का उȅर दीिजए ।             2  
       Answer any one of the following question.  

(a) 
i) 3/5 और 4/5 के बीच पाँच पᳯरमेय सं᭎याएँ ᭄ात कᳱिजए। 
ii) ᭍या सभी धना᭜मक पूणाᲈकᲂ के वगᭅमूल अपᳯरमेय ह?ᱹ यᳰद नहᱭ, तो उस सं᭎या के वगᭅमूल  का उदाहरण दीिजए 

जो एक पᳯरमेय सं᭎या है।                          

 i)  Find five rational numbers between 3/5 and 4/5.  
 ii)  Are the square roots of all positive integers irrational? If not, give an example of the 

square root of a number that is a rational number.                   (See Lesson 1) 

 (b) िन᳜िलिखत को सरल कᳱिजए 
(i)  3(a4 b3)10 x 5 (a2 b2)3 

(ii)  (2x -2 y3)3      

    Simplify the following 

(i)  3(a4 b3)10 x 5 (a2 b2)3 

(ii)  (2x -2 y3)3                                                    (See Lesson 2) 
     

2. िनɻिलİखत मŐ से िकसी एक Ůʲ का उȅर दीिजए ।                     2 
Answer any one of the following question. 
(a)  
(i) हल करᱶ : (5m – 3)/4 + (3m – 2)/5 = (m + 6)/7 
(ii)  दो सं᭎याᲐ का योग 82 है और उनका गुणनफल 1456 ह,ै दोनᲂ सं᭎याएँ ᭄ात कᳱिजए। 

(पाठ-3 देखŐ) 
     (i)     Solve: (5m – 3)/4 + (3m – 2)/5 = (m + 6)/7 

     (ii)    The sum of two numbers is 82 and their product is 1456, find the two numbers. 
(See Lesson-3) 

 b) बᱟपद (x3 + 2x + 1)/5 – (7/2)x2 – x6 के िलए िलखᱶ 

(i) बᱟपद कᳱ िडᮕी 

(ii) x3 का गुणांक 

 (iii) x6 का गुणांक 

 (iv) अचर पद                            (पाठ-3 देखŐ) 
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b) For the polynomial (x3

(i) the degree of the polynomial 

(ii) the coefficient of x

(iii) the coefficient of x

(iv) the constant term

 
3. िनɻिलİखत मŐ से िकसी एक Ůʲ का उȅर
  Answer any one of the following
 

(a) िन᳜िलिखत आकृित मᱶ,रेखाएँ 
a: b = 2 : 3 ह,ै तो c ᭄ात कᳱिजए।

 
 
 
 
 
 
 
 
 
 
 
 

In Fig. 1, lines XY and MN intersect at O. If 

 
 

 
 
 
 
 
 
 
 

(b) आकृित 1 मŐ  ∠ PQR=  ∠ PQR,
 

आकृित मᱶ ,∠PQR  =∠PRQ, 

 
 
 
 
 
 
 
 
 
 
 

 In Fig. 1, ∠PQR = ∠PRQ, then prove that 
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3 + 2x + 1)/5 – (7/2)x2 – x6, write  

the degree of the polynomial  

coefficient of x3  

the coefficient of x6  

the constant term  

िनɻिलİखत मŐ से िकसी एक Ůʲ का उȅर दीिजए ।                               
Answer any one of the following question. 

रेखाएँ XY और MN O पर ᮧित᭒छेद करती हᱹ। यᳰद 
᭄ात कᳱिजए।       (पाठ 10

In Fig. 1, lines XY and MN intersect at O. If ∠POY = 90° and a: b =   2 : 3, find c.
            

PQR, तो िसȠ करŐ  की  ∠ PQS=  ∠ PRT 

6.15 मᱶ  तो िस᳍ कᳱिजए ᳰक ∠PQS  =∠PRT है।     

PRQ, then prove that ∠PQS = ∠PRT.  
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  (See Lesson 3) 

     2 

पर ᮧित᭒छेद करती हᱹ। यᳰद ∠POY = 90° और   
10 दखेᱶ) 

POY = 90° and a: b =   2 : 3, find c. 
     (See Lesson 10) 

(पाठ 11 दखेᱶ) 

     (See Lesson 11) 
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4. िनɻिलİखत मŐ से िकसी एक Ůʲ का उȅर
     Answer any one of the following questions in about 100

(a) एक समांतर चतभुुᭅज के सभी कोण ᭄ात कᳱिजए यᳰद एक कोण 
िवकणᭅ उसकᳱ एक भजुा स े

 Find all the angles of a parallelogram if one angle is 80°.
 In a rectangle, one diagonal is inclined to one of its sides at 25°. Measure the acute 

angle between the two diagonals.

(b) िस᳍ कᳱिजए ᳰक समांतर चतुभुᭅज के कोण ि᳇भाजक एक आयत बनाते ह।ᱹ
 एक ᮝैपेिज़यम एबीसीडी मᱶ

गणना करᱶ|  
 Prove that the angle bisectors of a parallelogram form a rectangle.

  In a trapezium ABCD, AB

 
  एक समलंब ABCD मŐ ABIICD

(दोनो के िलए पाठ 13 देखᱶ
 

5. िनɻिलİखत मŐ से िकसी एक Ůʲ का उȅर
     Answer any one of the following questions.
 

(a)  
(i) िस᳍ कᳱिजए ᳰक एक वृᱫ के ᳞ास के िसरᲂ पर खᱭची गई ᭭पशᭅ रेखाएँ समांतर होती ह।ᱹ

(ii) दो संकᱶ ᳰᮤत वᱫृᲂ कᳱ िᮢ᭔याएँ 
को ᭭पशᭅ करती ह।ै   

(i) Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

(ii) Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of 
the larger circle which touches the smaller circle.

 
a) आकृित 3 मᱶ, DE||AC और 
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से िकसी एक Ůʲ का उȅर दीिजए । 
Answer any one of the following questions in about 100-150 words. 

एक समांतर चतभुुᭅज के सभी कोण ᭄ात कᳱिजए यᳰद एक कोण 80° का ह।ै
िवकणᭅ उसकᳱ एक भजुा स े25° पर झुका Šआ ह।ै दोनᲂ िवकणᲄ के बीच के 
Find all the angles of a parallelogram if one angle is 80°. 
In a rectangle, one diagonal is inclined to one of its sides at 25°. Measure the acute 
angle between the two diagonals. 

 
समांतर चतुभुᭅज के कोण ि᳇भाजक एक आयत बनाते ह।ᱹ 

एक ᮝैपेिज़यम एबीसीडी मᱶ, AB∥CD| यᳰद ∠A = 55° और ∠B = 70, 
 

Prove that the angle bisectors of a parallelogram form a rectangle.
In a trapezium ABCD, AB∥CD. Calculate ∠C and ∠D if ∠A = 55° and 

     (See Lesson

ABIICD है ! यिद ∠A55° और ∠B = 70°, तो ∠C और ∠

देखᱶ) 

िनɻिलİखत मŐ से िकसी एक Ůʲ का उȅर दीिजए । 
Answer any one of the following questions. 

िस᳍ कᳱिजए ᳰक एक वृᱫ के ᳞ास के िसरᲂ पर खᱭची गई ᭭पशᭅ रेखाएँ समांतर होती ह।ᱹ 

दो संकᱶ ᳰᮤत वᱫृᲂ कᳱ िᮢ᭔याएँ 5 सेमी और 3 सेमी ह।ᱹ बड़े वृᱫ कᳱ उस जीवा कᳱ ल᭥बाई ᭄ात कᳱिजए जो छोटे वृᱫ 
                          

Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of 
the larger circle which touches the smaller circle.  

और DF||AE. िस᳍ कᳱिजए ᳰक BF/FE = BE/EC. 
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                 4         
 

का ह।ै एक आयत मᱶ, एक 
ह।ै दोनᲂ िवकणᲄ के बीच के ᭠यून कोण को मापᱶ। 

In a rectangle, one diagonal is inclined to one of its sides at 25°. Measure the acute 

, ∠C और ∠D कᳱ  
                  

Prove that the angle bisectors of a parallelogram form a rectangle.   
A = 55° and ∠B = 70° 

Lesson 13 for both) 

∠D की गणना कीिजए |                                                                      

                 4         

सेमी ह।ᱹ बड़े वृᱫ कᳱ उस जीवा कᳱ ल᭥बाई ᭄ात कᳱिजए जो छोटे वृᱫ 
        (पाठ 15 देखᱶ) 

Prove that the tangents drawn at the ends of a diameter of a circle are parallel. 

concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of 
 (See Lesson 15) 
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a) In the figure 3, DE||AC and DF||AE. 
 
 
 
 
 
 
 
 
 
 
 

 
 

b) AD और BC एक रेखाखंड A
 
 
 

 
 
 
 
 
 
 
 
 

   
 

b) AD and BC are equal perpendiculars to a line segment AB. Show that CD bisects AB. 
 
 
 
  
 
 
 
 
 
 
   
 
6. नीचे दी गई  पįरयोजनाओ ंमŐ से कोई एक पįरयोजना तैयार कीिजए 
     Prepare any one Project out of the following projects given 
 

a) िन᳜िलिखत आँकड़ᲂ के िलए आवृिᱫ
  

कᭃा अ᭠तराल 10-20 20

आविृᱫ 
 

4 

 
 

b) आठवᱭ कᭃा के 30 छाᮢᲂ के रᲦ समूह इस ᮧकार दजᭅ ᳰकए गए हᱹ
  A, B, O, O, AB, O, A, O, B, A, O, B, A,
   A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O.
 

2024 (Mathematics - 211) 

In the figure 3, DE||AC and DF||AE. Prove that BF/FE = BE/EC. 

AB पर समान लंब ह।ᱹ ᳰदखाइए ᳰक CD, AB को समि᳇भािजत करती है।

 

 
b) AD and BC are equal perpendiculars to a line segment AB. Show that CD bisects AB. 

 

पįरयोजनाओ ंमŐ से कोई एक पįरयोजना तैयार कीिजए । 
Prepare any one Project out of the following projects given below: 

िन᳜िलिखत आँकड़ᲂ के िलए आवृिᱫ बᱟभुज बनाइए 

20-30 30-40 40-50 50-60 60-70 

6 8 10 12 4 

छाᮢᲂ के रᲦ समूह इस ᮧकार दजᭅ ᳰकए गए ह:ᱹ 
A, B, O, O, AB, O, A, O, B, A, O, B, A, O, O, 
A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O. 
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को समि᳇भािजत करती है।    

      (पाठ 14

b) AD and BC are equal perpendiculars to a line segment AB. Show that CD bisects AB.     

   (See Lesson

 

70-80 80-90 
 

7 5 
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इन आँकड़ᲂ को एक आविृᱫ िवतरण तािलका के ᱨप मᱶ ᮧ᭭तुत कᳱिजए। इन छाᮢᲂ मᱶ सबसे आम और सबसे दलुᭅभ रᲦ समूह कौन 
सा ह?ै 
a) Draw the frequency polygon for the following data 
 

Class Interval 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 

Frequency 4 6 8 10 12 14 7 5 

  
 b)  The blood groups of 30 students of Class VIII are recorded as follows: 
 
          A, B, O, O, AB, O, A, O, B, A, O, B, A, O, O, 
          A, AB, O, A, A, O, O, AB, B, A, O, B, A, B, O. 
 
Represent this data in the form of a frequency distribution table. Which is the most common, 
and which is the rarest, blood group among these student? 

 
अथवा 
 

a) 40 अिभयंताᲐ कᳱ उनके आवास से कायᭅ᭭थल तक कᳱ दरूी (ᳰक.मी. मᱶ) इस ᮧकार पाई गई: 
 

 
 

पहले अंतराल को 0 - 5 (5 शािमल नहᱭ)लेते ᱟए ऊपर ᳰदए गए आंकड़ो  के िलए वगᭅ आकार 5 के साथ एक समूहीकृत आवृिᱫ 
िवतरण तािलका बनाएं। इस सारणीब᳍ िनᱨपण से आप ᳰकन म᭎ुय िवशेषताᲐ का अवलोकन करते हᱹ? 
 

b) दिुनया भर मᱶ 15 से 44 वषᭅ के बीच कᳱ मिहलाᲐ मᱶ बीमारी और मृ᭜यु के कारण के िलए एक संगठन ᳇ारा ᳰकए गए 
एक सवᱷᭃण मᱶ िन᳜िलिखत आंकड़े (% मᱶ) पाए गए 
 

ᮓम सं᭎या कारण मिहला मृ᭜य ुदर 

1. 

2. 

3. 

4. 

5. 

6. 

ᮧजनन ᭭वा᭭᭝य कᳱ ि᭭थित 

᭠यूरोसाइᳰकयाᳯᮝक ि᭭थितया ं

चोट लगने कᳱ घटनाएं 

ᱡदय संबंधी ि᭭थितया ं

᳡सन कᳱ ि᭭थित 

अ᭠य कारण 

31.8 

25.4 

12.4 

4.3 

4.1 

22.0 

 
i) ऊपर दी गई जानकारी को रेखांकन ᳇ारा िनᱨिपत कᳱिजए। 

ii) दिुनया भर मᱶ मिहलाᲐ के खराब ᭭वा᭭᭝य और म᭜ृयु का ᮧमुख कारण कौन सी ि᭭थित ह?ै 
iii) अपने िशᭃक कᳱ सहायता से ᳰक᭠हᱭ दो कारकᲂ का पता लगाने का ᮧयास करᱶ जो उपरोᲦ (ii) मᱶ ᮧमुख कारण 

होने मᱶ ᮧमुख भूिमका िनभाते ह।ᱹ                           (दोनो के िलए पाठ 24 दखेᱶ) 
 

OR 
 

a) The distance (in km) of 40 engineers from their residence to their place of work were 
found as follows: 
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Construct a grouped frequency distribution table with class size 5 for the data given 
above taking the first interval as 0 – 5 (5 not included). What main features do you 
observe from this tabular representation? 

 
b)  A survey conducted by an organisation for the cause of illness and death among the 

women between the ages 15 – 44 (in years) worldwide, found the following figures         
(in %) : 

        

S. No. Causes Female Fatality Rate 

1. 

2. 

3. 

4. 

5. 

6. 

Reproductive health conditions 

Neuropsychiatric conditions 

Injuries 

Cardiovascular Conditions 

Respiratory conditions 

Other Causes 

31.8 

25.4 

12.4 

4.3 

4.1 

22.0 

 
 (i)  Represent the information given above graphically. 

       (ii)  Which condition is the major cause of women’s ill health and death worldwide? 

  (iii)  Try to find out, with the help of your teacher, any two factors which play major 
role in the cause in (ii) above being the major cause. 

     (See Lesson 24 for both) 


